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25 |BIE (Vdc)| EFEE= (uF) | 85 (4AN/#) | FH8H (4) %% |BE (Vdc)| #EBAE=E (uF) | 8% (AN/#) [ EER (1)
- 15 ~ 18 = 200 5.6 ~ 8.2 700 =
2 - 150 450 0~ 12 150 -
00 6.8 ~ 8.2 = 200 5 100 -
e 0~ 12 = 150 8 100 =
630 0.47 ~ 3.3 = 200 3.3 200 =
47 - 150 630 3.0~ 6.8 150 -
1000 0.47 ~ 1.0 - 200 8.2 100 -
5 = 150 e i0 100 =
0.82 ~ 1.2 500 = 2.7 ~ 2.7 200 =
.5~1.8 500 = 500 33~3.9 150 -
2.2 400 - 47 100 =
2.7 300 = 5.6 ~ 6.8 100 =
250 3.3 ~3.9 500 = 1.0 200 =
47 400 = 1.2 150 -
5.6 ~ 8.2 300 = 1000 .5~ 1.8 100 -
0~ 12 200 = 2.0~ 2.1 100 =
i5 150 = 0.33 ~0.39 800 =
0.33 ~ 0.68 800 = 0.47 ~ 0.68 600 -
0.82 600 = 0.82 ~ 1.2 500 =
1.0~ 1.8 500 = .5~1.8 400 =
22 ~2.1 300 = 20~ 2.1 300 =
3.3 500 = 250 3.3 400 -
315 3.9 400 = 3.9~ 6.8 300 =
47 300 = 8.2 200 =
5.6 200 = 10 200 =
6.8 ~ 8.2 200 = 12 150 -
10~ 12 150 - 5~ 22 100 =
15 ~ 22 100 = 0.22 ~ 0.77 800 =
0.22 ~ 0.2 800 = 0.33 ~ 0.47 600 =
0.33 ~ 0.68 600 = 0.56 ~ 2.2 400 -
0.82 ~ 1.0 400 = 315 2.7~3.9 300 =
.2~15 300 = 47 ~56 200 =
400 1.8~ 2.7 400 = 6.8 200 =
33~3.9 300 = 8.2 150 -
a7 200 - 0.1 700 =
5.6 ~ 6.8 200 = 0.12 ~ 0.18 600 =
8.2 150 = 0.22 ~0.33 500 =
0.22 ~ 0.2 800 = 0.39 ~ 1.2 400 =
0.33 ~ 0.68 500 = TACB 400 1.5~1.8 300 =
0.82 300 = 2.2 200 =
.0 400 = 2.7 200 =
UG 500 1.2 500 = 3.3 ~3.0 150 =
1.5~1.8 400 = 47~56 100 =
22 ~2.1 300 = 0.056 ~ 0.082 800 =
33~3.9 200 = 0.1 ~0.12 600 =
47 150 - 0.15 500 -
0.1 ~0.15 800 = 0.18 ~ 0.77 400 -
0.18 600 = 630 0.33 ~ 0.47 300 =
0.22 ~ 0.3 500 = 0.56 ~ 0.68 400 =
0.39 400 - 0.82 ~ 1.0 300 -
0.47 300 - 1.2 ~1.8 200 -
630 0.56 ~ 1.0 400 = 2.2 150 =
.2~15 300 = 2.7 ~ 3.9 100 =
1.8 200 - 0.033 ~ 0.039 800 -
7.7~ 2.7 200 - 0. 047 ~ 0.068 600 =
3.3 150 = 0.082 ~ 0.15 400 =
3.9~ 5.6 100 = 500 0.18 ~ 0.22 300 =
0. 056 ~ 0. 082 800 - 0.27 ~0.33 400 -
0.1 ~0.12 600 = 0.39 ~ 0.56 300 =
0.15 ~ 0.27 500 = 0.68 ~ 1.0 200 =
500 0.33 ~ 0.68 400 = .7 150 -
0.82 ~ 1.0 300 -
1.0~1.8 200 =
2.2 150 =
2.7 ~3.9 100 =
0.033 ~ 0.039 800 -
0. 047 ~ 0. 082 600 =
0.1 ~0.12 500 =
0.15 ~ 0.18 400 =
1000 0.22 ~ 0.27 300 -
0.33 ~ 0.39 400 =
0.47 ~ 0.68 300 =
0.82 ~ 1.0 200 =
1.2 150 -
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Z%] |BE (Vdc)| EEAEE (uF) | #8855 (AN/F) [ EEH (AD) 2% |BIE (Vdc)| #FEEF= (uF) | E8& (4AN/f) | FEH (4)
630 0.47 ~ 1.0 = 200 0.033 ~ 0.039 800 =
.5 = 150 0. 047 ~ 0.068 600 =
0.47 ~ 0.68 = 150 0. 082 500 =
i 1250 1.0~ 1.5 = 100 0.10 ~ 0.18 400 =
1600 0.27 ~ 0.33 = 150 630 0.22 ~ 0.27 300 =
2000 0.18 ~ 0.22 - 150 0.33 ~ 0.39 400 =
0. 047 ~ 0. 082 500 = 0.47 ~ 0.56 300 =
0.1 500 = 0.68 ~ 0.82 200 =
0.12 ~ 0.2 400 = 0.1 ~0.12 150 =
0.27 300 = 0.08 800 =
630 0.33 500 = 0.022 ~ 0.033 600 =
0.39 ~ 0.68 400 = 0.039 ~ 0. 056 500 =
0.82 300 = 0.068 ~ 0. 1 400 =
T0~1.2 200 = 0.12 300 =
.5 200 = 1000 0.15 500 =
0.033 ~ 0.056 600 = 0.18 ~ 0.27 400 =
0.068 500 = 0.33 300 =
0.082 ~ 0.1 400 = 0.39 ~ 0.56 200 =
1000 0.12 ~ 0.47 300 = 0.68 150 =
0.56 ~ 0.82 200 = 0.82 ~ 1.2 100 =
1.0 200 = 0.012 ~ 0.027 600 =
1.2 150 = 0.033 500 =
0.018 ~ 0.039 600 = 0.039 ~ 0. 056 400 =
0. 047 ~ 0. 082 400 = 0. 068 ~ 0. 082 300 =
0.1 ~0.12 300 = 1250 0.1 ~0.12 400 =
1250 0.15 ~0.18 400 = 0.15~0.18 300 =
0.22 ~ 0.27 300 = 0.22 ~0.33 200 =
0.33 ~ 0.47 200 = 0.39 ~ 0.56 150 =
0.56 ~ 0.68 150 = 0.68 ~ 0.82 100 =
0.82 ~ 1.2 100 = 1.0 100 =
0.0068 ~ 0.012 600 = AGE 0. 0047 ~ 0.0068 600 =
0.015 500 = 0.0082 ~ 0.012 500 =
0.018 ~ 0.027 400 = 0.015 400 =
0.033 ~ 0. 068 300 = 0.018 ~ 0.033 300 =
ey 1600 5 082 ~0.15 400 = 1600 0.039 500 =
0.18 ~ 0.2 200 = 0. 047 ~ 0.082 400 =
0.27 200 = 0.1 ~0.12 300 =
0.33 150 = 0.15~0.18 200 -
0.0033 ~ 0.0056 600 = 0.22 ~ 0.27 150 -
0. 0068 500 = 0.33 ~ 0.47 100 =
0.008 ~ 0.015 400 = 0.001 ~ 0.0039 800 =
0.018 ~ 0.022 300 = 0. 0047 ~ 0.0056 600 -
2000 | 0.027 ~ 0.068 400 = 0. 0068 500 =
0.082 300 = 0.0082 ~ 0.012 400 =
0.1 ~0.15 200 = 0.015 ~ 0.022 300 =
0.18 150 = 2000 | 0.027 ~ 0.047 400 -
0.220 ~ 0.330 100 = 0.056 300 =
0.015 ~ 0.022 300 = 0068 ~ 0. 082 200 =
0.027 ~ 0.033 200 = 0.1 200 =
2500 | 0.039 ~ 0.056 300 = 0.12 ~ 0.15 150 -
0. 068 ~ 0. 082 200 = 0.18 ~ 0.27 100 =
0.1 150 = 0. 0047 ~ 0.0068 200 =
00068 ~ 0.01 300 = 00082 400 =
0.012 ~ 0.015 200 = 450 |_0.010~ 0072 300 -
3150 | 0.018 ~ 0.027 300 = 0.015 200 =
0.033 ~ 0.039 200 = 0.018 200 =
0. 047 150 = 0.022 ~ 0.033 150 =
0.0039 ~ 0.0056 300 = 0.0027 300 -
0.0068 ~ 0.01 200 = 0.0033 ~ 0.0047 200 =
4000 | 0.012 ~0.015 300 = 4000 | 0.0056 ~ 0.0068 300 =
0.018 200 = 0.0082 ~ 0.01 200 =
0.022 ~ 0.027 150 - 0.012 ~ 0.018 150 -
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